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SHARADA RESIDENTIAL SCHOOL, UDUPI
ENTRANCE EXAMINATION - CLASS VI
SYLLABUS

Max. Marks : 150

Note: This booklet consists of THREE parts. They are:

Part | English 40 mins. | 50 Marks
Part 11 Mathematics 40 mins. | 50 Marks
Part 11l | Kannada/Hindi 40 mins. | 50 Marks
(Any ONE Language)
ENGLISH

1. Choose the correct VERB given in bracket : Eg.: Ali bakes different kinds of cakes.(bake / bakes)
2. Choose the correct form of VERBS given in bracket :

Eg.: Two cups of flour seem to be too much. (seem / seems)

3. Tense : Change as directed

Eg.: We were listening to the radio. (Simple Present Tense)

4. Synonym — Write similar words :

5. Identify the Parts of Speech :

Eg. : 1. War brings pain and destruction. [Ans : brings — Verb ; and - Conjunction]

Eg. : It was a splendid view.

Ans : We listen to the radio.

2. She is beautiful. [Ans : She — Pronoun ; beautiful — adjective]

6. Arrange the jumbled words :  Eg. : NOTICADUE [ Ans : EDUCATION ]
7. Articles : Fill in the blanks with suitable articles (a, an, the)
8. Kinds of Sentences : Pick out the kinds of sentence

Eg. : The film has come out on Video. (Assertive Sentence)

9. Conjunction : Fill in the blanks with suitable conjunction

Eg. : The police would always try hard to arrest Shakuntala.

10.  Use Capital Letters wherever required :

Eg. : i love my country india [Ans : | love my country India.]

11.  Degrees of Comparison :

Ans : It was a great view.

Eg. : I enjoyed the lunch.

Eg.:
Positive Comparative Superlative
good better best
tall taller tallest

12.  Passage Reading and answer the questions (Comprehension)

13.  Composition : Eg. — 1. My Father

2. My School

3. Village

MATHEMATICS

Syllabus to prepare :

Numbers

Factors and Multiples

1
2.
3. Profit and Loss
4

Basic Geometrical concepts

e Straight line
e Ray

e Line Segment

Question paper pattern :
| Fill up the blanks :

Eg. : The place value of 7 in 27016 is

I Choose the correct answer :

Angles
Circles

No o

e Square
e Rectangle

Perimeter and Area of plane figures

. [Ans : Thousand]

Eg. : If the perimeter of a square is 40 cm, then its side is
a) 10cm b)dcm c¢)20cm d) 5cm

i Write TRUE or FALSE :

Eg.: Lisa HCF of 5 nd 6. [Ans : TRUE]

. [Ans : a) 10 cm]

[1x 10 = 10]

[1 x 10 = 10]

[1 x 10 = 10]




v Solve the following : [2 x 10 = 20]
Eg.: Solve : 4,301 + 51,685 — 252 [Ans : 55,734]
How to solve : 4301 55986
51685 252
55986 55734
33
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